	Prénom : ......................................
	Date : .............................................................................
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	20 - 15 = ?

(20 - 10) - 5 = ?

10 - 5 = 5

20 - 15 = 5
	100 - 48 = ?

(100 - 40) - 8 = ?

60 - 8 = 52

100 - 48 = 52


· Complète le tableau suivant :


	
	- 1
	- 2
	- 3
	- 4
	- 5
	- 6
	- 7
	

	987


	986
	984
	981
	977
	972
	966
	959

	
	
	
	
	
	
	
	

	599
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..

	
	
	
	
	
	
	
	

	708
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..

	
	
	
	
	
	
	
	

	356
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..

	
	
	
	
	
	
	
	

	642
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..

	
	
	
	
	
	
	
	

	890
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..
	………………..

	
	
	
	
	
	
	
	


· Calcule en colonne :

	5 8

-  3 1
……....….
	8 7

-  2 6
……....….
	6 9

-  5 0
……....….
	9 9

-  3 5
……....….
	4 6

-  1 3
……....….

	
	
	
	
	

	9 4

-  6 3
……....….
	8 8

-  5 5
……....….
	7 7

-  1 7
……....….
	8 8

-  4 0
……....….
	7 8

-  4 8
……....….

	
	
	
	
	


· Pose en colonne et calcule :

	87 - 71 = ………….….
	68 - 30 = ………….….
	93 - 62 = ………….….
	99 - 87 = ………….….

	
	
	
	

	47 - 31 = ………….….
	69 - 52 = ………….….
	97 - 23 = ………….….
	990 - 9 = ………….….

	
	
	
	


